“?MONARK

SPORTS & MEDICAL

E;:qonwdéo 874 E

Manual
Englishj/Syensk

Monark{874JE






Contents

Monark Exercise AB 4
Product Information 5
Operating Instruction 6
Workload adjustments 6
Cycle adjustments 6
Computer specifications 7
Computer Instruction 7
Service 8
Warranty 8
Service check & maintenance 8
Transport 9
Batteries 9
Replacement of brake cord/belt 10
Adjusting the brake cord/belt tension 10
Brake belt contact surface 11
Crank bearing 11
Flywheel bearing 11
Chain 1/2”x 1/8” 12
Freewheel sprocket 13
Exercising 14
Trouble shooting guide 15
Spare parts 16

© 2009 MONARK EXERCISE AB, Vansbro, Sweden




Monark Exercise AB

Monark has 100 years’ experience of bicycle production. The Monark tradition
has yielded know-how, experience, and a real feel for the product and quality. Since
the early 1900s, Monark’s cycles have been living proof of precision, reliability,
strength and service. That is one of the reasons why we are now the word lead-
er in cycle ergometers and the market leader in Scandinavia in transport cycles.

We manufacture, develop and market ergometers and exercise bikes, transport bikes
and specialised bicycles. Our largest customer groups are within health care, sports

medicine, public authorities, industry and postal services.

For more information: www.monark.net

Monark Ergomedic 874 E



Product Information

Congratulations on your new Ergometer. NOTE!
The use of Ergomedic 874 E can be physically
Monark Ergometer model 874 E is a safe, easy-  strenuous. Always consult a doctor before begin-

to-use bike for fitness testing and worktests. Ithas ~ ning an exercise program and stop immediately if
a braking system, of which workload can be set by  feeling faint or dizzy.

weights in a weight basket. The patented weight bas-

ket system does not require calibration. The precision

of the weights ensures that the workload is correct.

Features

Large, well-balanced flywheel 22kg (48 lbs)
Adjustable seat height

Adjustable handlebar with quick release lever
Stable frame, solid steel tube

Powder painted

Wheels for easy transport

Electronic display with heart rate

Width
530 mm (21”) at handlebar
640 mm (25”) at support tubes

Length
1120 mm (44”)

Height

890-1130 mm (35-44,5”) at handlebar
800-1120 mm (31,5-44”) at seat

1030 mm (40,5”) at front

Weight

57 kg (127 Ibs) (without weights)

Included & ) K e

Chestbelt - ‘ -
g, L

Monark Ergomedic 874 E 5



Operating Instruction

Workload adjustments

When pedaling the subject stores energy in the
flywheel. The flywheel is then braked by means
of a brake belt/cord which runs around the fly-
wheel. The workload is changed either by using
other pedaling speed or by increasing or decrea-
sing the tension of the brake belt/cord against the
flywheel by place weights in the weight basket.
Weights are in sizes 1 kg, 0,5 kg and 0,1 kg. This
makes it possible to vary the workload from 1 kg
up to maximum 12 kg in steps of 0,1 kg. NOTE:
1 kg is the lowest work load that can be set as
this is the weight of the basket itself. A weight
basket that only weighs 0,5 kg is available as an
option.

Fig: Adjustments

1) Lever, seat post
2) Lever, handlebar M
3) Inserted min. 3” [ -~ \

Fig: Workload device
1) Weight basket with weights

Cycle adjustments

Seat height should be adjusted to a comfortable
position. A suitable height is when your knee is
slightly bent and the middle of the foot is straight
above the pedal axle with the pedal is in its lo-
west position. To adjust the seat height loosen the
lever on the seat tube. See fig: Adjustments.

The handlebar setting shall give a comfortable
position when cycling. During longer exercise
sessions it is recommended to occasionally chan-
ge the handlebar position. To adjust the handle-
bar loosen the quick release lever. See fig: Adjust-
ments.

NOTE! The handlebar stem should be inserted
into the frame tube at least 3 inches (about 8 cm).
this measure is marked out on the stem(3).

6 Monark Ergomedic 874 E



Computer specifications

Display

RPM 0-250 rev./min
HR 50 - 240 bpm
TIME 0:00-99:59 | min:sec
SPEED 0-99 km/h or mph
DISTANCE 0.0-99.9 |km or mile
FORCE 0.0-7.0 kp
CALORIES 0-999 kcal
WATT 0 -7 x rpm | watt
Batteries: 1.5Vx2 R6 (AA)
Storing temp.: -10°C - +60°C

Operating temp.: 0°C - 50°C

Computer Instruction

The ergometer is equipped with a Fitness compu-
ter showing pedal revolutions per minute (RPM),
heart rate in bpm (HR), exercise time in minutes
and seconds (TIME), cycling speed in km per
hour or miles per hour (SPEED), covered distan-
ce in km or mile (DISTANCE). Furthermore the
workload (kp = weight basket + weights in kg)
can be set which gives a reading of burned calo-
ries (CAL) as well as power (WATT) on the com-
puter display. The energy is usually expressed in
k] (kilo Joule) or cal (kilocalorie, kcal). One kcal
is aprox.4,2 kJ. The power is depending on the
pedaling speed which makes it possible to adjust
the workload/power by increasing or decreasing
the pedalling speed.

Press any button or move the pedal to turn on
the meter. At the display for heart rate (HR) a
v is lit which means that the meter is trying to
find a pulse signal from an external source (chest-
belt with electrodes, our part.no 9339-98). If the
meter can not find such a signal this HR func-
tion is automatically turned of after 30 seconds.
When the function is turned off the ¥ symbol is
not lit any more. The heart rate function can be
turned on again by pressing a button.

Timer starts automatically when pedals are
moved. Meter values for Time, Distance and Ca-
lories can be set to zero by pressing the RESET
button for more than 2 seconds.

23
1580 |F
538@ TIME
Hb65.
3 .

KP
E 3 i WATT

To get correct readings for calories and watts
the kp value on the electronic meter has to be
set to the same value as the workload that is the
weight of the basket including the weights in it.
Example: The workload is 3 kg (weight basket 1
kg + 2 x 1kg weight). Press the kp button to the
left on the meter. The lower display window is
now flashing and showing figures in kp. Increase
or decrease in steps of 0.1 kp by pressing the kp
button (a) or the RESET button (+) until the
reading is corresponding with the actual or de-
sired kp values (workload) from the weight bas-
ket. After that press the CAL/WATT button to
either show the CAL or WATT figures. The watt
reading on the display depends on the pedalling
speed. The watts can be adjusted accordingly by
increasing or decreasing the pedalling speed.

?
{!)L
v
Lf

SPEED

DISTANCE
kp

Km/Miles

Km and km/h is the default setting from the fac-
tory. If you want the settings to be in miles, take
the meter out of the panel. Turn off the meter
by taking out one battery. On the back side is
a switch with two settings - 1 and ON. See fig:
Batteries in section ”Batteries”. 1 is equal to km
and km/h and is the default setting. ON is equal
to mile and mph. Choose position and install the
battery again. Put the meter back again into the
panel.

Do not expose the fitness computer to direct
sunlight or extremely high temperature. Do not
use any dissolvents when cleaning. Use only dry
cloth.

Monark Ergomedic 874 E 7



Service

Warranty

EU countries private use

If you are a natural person you will have a minimum level of protection against defects in accordance
with EC Directive 1999/44/EC. In short, the directive provides for that your Monark Dealer will be
liable for any defects, which existed at the time of delivery. In case of defects, you will be entitled to
have the defect remedied within a reasonable time, free of charge, by repair or replacement.

EU countries professional use

Monark products and parts are guaranteed against defects in materials and workmanship for a period
of one year from the initial date of purchase of the unit. In the event of a defect in material or work-
manship during that period above, Monark Exercise will repair or replace (at its option) the product.
Monark Exercise will do so at its expense for the cost of materials but not for labor or shipping.

Other countries

Monark products and parts are guaranteed against defects in materials and workmanship for a period
of one year from the initial date of purchase of the unit. In the event of a defect in material or work-
manship during that period above, Monark Exercise will repair or replace (at its option) the product.
Monark Exercise will do so at its expense for the cost of materials but not for labor or shipping.

Service check & maintenance
To keep your Ergometer in good shape you should make a regular service.

Service action Time? |Service interval

Keep your Ergometer clean and properly lubricated 5 min |once per week

Periodically wipe the surface with a rust preventative, especially when it|5 min |4 times per year
has been cleaned and the surface is dry. This is done to protect the chrome
and zinc parts as well as the painted parts.

Check now and then that both pedals are firmly tightened. If not the th-|5 min |4 times per year
reading in the pedal arms will be damaged. Also check that pedal arms are
firmly tightened on the crank axle, tighten if necessary. When the Ergome-
ter is new it is important to tighten the pedals after 5 hours of pedaling.

Check that the pedal crank is secure to the crank axle. 5 min |4 times per year

Be sure that the pedals are moving smoothly, and that pedal axle is clear | 5 min |4 times per year

of dirt and fibers.

When cleaning and lubricating be sure to check that all screws and nuts | 10 min |2 times per year
are properly tightened.

Check that the chain is snug and there is no play in the pedal crank. 15 min |2 times per year
Check that pedals, chain and freewheel sprocket are lubricated. 5 min |2 times per year
Be sure that the brake belt does not show significant signs of wear. 15 min |2 times per year
Check that the handlebars and seat adjustment screws are lubricated. 5 min |2 times per year
Be sure that all moving parts as crank and flywheel are working normal Pay attention, if
and that no abnormal play or sound excsists. L.e. play in bearings causes fur C[trilcl)srlf%ﬂ: rfar?ﬁtls

fast wearing and with that follows a highly reduced lifetime. must be attend to
at once before any
further use of the

bike.

Check that the flywheel is placed in the center and with plane rotation.

8 Monark Ergomedic 874 E



Transport

At transport the brake cord should be somewhat
tightened to prevent it from falling off the fly-
wheel.

Please note: The production number of your Er-
gometer is placed according to fig: Serial num-
ber.

Fig: Serial number (1)

Batteries

The batteries are in a separate package at deli-
very. The batteries may need to be replaced upon
assembly. To replace the batteries at any time,
take the meter out of the housing by bending up
in the lower end with a coin or similar. The bat-
teries, 2 x 1.5V size AA(R6), which are placed in
the holder on the backside of the meter, can then
easily be changed. See fig: Batteries.

After the batteries has been replaced all segments
in the display are visible and a buzzer will sound
for two seconds. After 2 seconds the meter turns
to main display again and normal function. Put
the meter into the housing again.

Note: On the backside of the meter is a switch to
change meter function from km to mile or mile
to km(2).

GIMONARIK

SPORTS

Fig: Batteries
1) Batteries
2) km/mile

Monark Ergomedic 874 E 9




Replacement of brake cord/belt

Remove the instrument cover by loosening the
screws on each side of the cover. Loosen the cord/
belt bracket, see fig: Brake device, and take away
the brake belt from the tension center. Loosen or
cut away the knot or tie up the knot at the other
end of the belt. After that take away the belt from
the bike. When assembling a new brake cord/
belt, first enter one end into the belt hole in the
tension center, see fig: Brake device, and make a
knot and let the knot fall into the bigger part of
the hole. Then assemble the new belt exactly as
the old one.

When replacing the brake belt it is recommen-
ded to clean the brake surface. See section ”Brake
belt contact surface”.

Fig: Brake cord

Adjusting the brake cord/belt tension

At first check that the brake belt is lying correctly
on the flywheel brake surface. See fig: Brake cord
and Brake device.

Put 4 kg in the weight basket(4). Rotate the fly-
wheel by hand. The basket shall now lift up so
the distance to the flywheel is at least 40 mm and
maximum 60 mm. If this is not the case the brake
belt has to be loosened or tightened a little at the
tension center. If the basket is too low, shorten
the belt somewhat. If the basket is too high, len-
ghten the cord somewhat.

Loosen the cord bracket(2) somewhat so that
the cord length can be adjusted. Turn the tension
center(3) approximately 45 degrees and after that
tighten the braket again. Release the basket and
check if the measurements above are OK when
the flywheel is rotated by hand. Repeat the above
if necessary.

Note: The basket gives the correct workload whe-
rever it hangs between the upper stop position and
the lower stop just above the flywheel. Note that the
tension center can t get in contact with it’s upper or
lower stop. In that case you will not receive correct
brake level. The measurements above (40-60) gives

a good margin. (

K

1) Stop

2) Cord bracket

3) Tension center

4) Weight basket

Fig: Brake device

10 Monark Ergomedic 874 E



Brake belt contact surface

The brake belt should be regularly checked to en-
sure that it has not suffered excessive wear. If it
looks worn it should be replaced. Deposits of dirt
on the brake belt and on the contact surface may
cause the unit to operate unevenly and will also
wear down the brake belt. The brake belt contact
of the flywheel surface should then be ground off
with fine sand paper and any dust removed with
a clean dry cloth.

Dismantle cover and remove the brake belt/cord
according to section ”Replacement of brakecord/
belt”. Grind with a fine sand paper. See fig: Brake
belt contact surface. Grinding is easier to per-
form if a second individual cautiously and slowly
pedals the cycle.

Irregularities on the brake belt contact surface
are removed by means of a fine sand paper or an
abrasive cloth. Otherwise unnecessary wear on
the brake belt may occur and the unit can be-
come noisy.

Always keep the brake belt contact surface clean
and dry. No lubricant should be used. We recom-
mend to replacing the brake belt when cleaning
the contact surface. In regard to assembly and
adjustment of the brake belt, see ”Replacement

of brake cord/belt”.

Fig: Brake belt contact surface

Crank bearing

The crank bearing is long term greased and needs
normally no supplementary lubrication. If pro-
blem arises, please contact your Monark dealer.

Flywheel bearing

The bearings in the flywheel are lifetime greased
and require normally no maintenance. If problem
arises, please contact your Monark dealer.

Monark Ergomedic 874 E 11



Chain 1/2" x 1/8"

It is strongly recommended to keep the chain
clean. Dirt build-up on the chain will cause ex-
cess wear. A chain lubricant and solvent for nor-
mal road bikes may be used.

Check the lubrication and tension of the chain in
regular intervals. In the middle of its free length
the chain should have a minimum play of 10 mm
(1/4in). See fig: Chain adjustments. When the play
in the chain is about 20 mm (3/4 inch) the chain
must be tightened otherwise it will cause abnor-
mal wear of the chin and chainwheels. Because of
this it is always recommended to keep the chain
play as little as possible. When the chain has be-
come so long that it can no longer be tightened
with the chain adjusters it is worn out and shall
be replaced with a new one.

To replace the chain remove left and right frame
cover. To adjust the chain the hub nuts should be
loosened. Loosening or tightening the nuts on the
chain adjusters will then move the hub and axle
forward or backward. Adjust according to above
recommendation. Then tighten the nuts on the
hub axle again. See fig: Chain adjustments.

Fig: Chain adjustments
1) Chain adjuster

2) Axel nut

3) Chain play

Loosen the chain adjuster as much as possible.
Dismantle the chain lock and remove the chain.
Put on a new chain and assemble the chain lock.
The spring of the chain lock should be assembled
with the closed end in the movement direction
of the chain. Use a pair of tongs for dismantling
and assembling the spring. See fig: Chain
replacement.

Adjust chain adjusters to allow chain play accor-
ding to above. Tighten axle nuts firmly. Put on
frame covers again.

NOTE: At assembly the flywheel has to be paral-
lel with the centerline of the frame otherwise the
chain and chain wheels makes a lot of noise and
wears out rapidly.

Fig: Chain replacement
4) Lock spring
5) Movement direction
6) Chain lock

12 Monark Ergomedic 874 E



Freewheel sprocket

When replacing the freewheel sprocket remove
left and right frame cover. Dismantle the chain as
described in part ”Chain 1/2” x 1/8” ”.

Loosen the axle nuts and lift off the flywheel.
Remove the axle nut, washer, chain adjuster and
spacer on the freewheel side. Place the special
remover (part No. 9100-14) in the adapter and
place the spacer and axle nut outside. See fig:
Special remover.

NOTE: Do not tighten the axle nut completely. It
must be possible to loosen the adapter-sprocket
half a turn.

The sprocket should be lubricated with a few
drops of oil once a year. Tolt the cycle somewhat
to make it easier for the oil to reach the ball bea-
ring. See fig: Lubrication.

Fig: Special remover
(part no: 9100-14)

&

Fig: Lubrication

Monark Ergomedic 874 E




Exercising

The human body is built for action — not for rest.
Once upon a time this was a necessity: the strugg-
le for survival demanded good physical condition.
But optimal function can only be achieved by re-
gularly exposing the heart, circulation, muscles,
tendons, skeleton and nervous system to some
loading, i.e. training.

In the old days the body got its exercise both in
work and at leisure. In our modern society, ho-
wever, machines have taken over an ever increa-
sing share of the tasks which were formerly ac-
complished with muscular power alone. Our life
has at an accelerated tempo been dominated by
sitting, riding and lying. Thus, the natural and
vital stimulation that tissues and internal organs
receive through physical exercise has largely dis-
appeared. Certain tissues such as muscles, bone
and blood and also a number of bodily functions
can adapt to inactivity — and to stress. Studies
have proved that if you use 30 minutes for ex-
ercise like brisk walking, running, bicycling,
swimming or skiing 2-3 times a week, your con-
dition has been improved by some 15 per cent
after a few months. The efficiency of the heart
muscle will increase and joints and muscles grow
in strength. The capillary density increases in the
trained muscle and their enzymatic activities are
enhanced. The body adapts to the new demands.
The perceived exertion at a given rate of exercise
becomes reduced.

With increased physical activity fatness is concen-
trated, the appetite functions “safer”, you can eat
more without risk for overweight and thereby the
risk of lack of important essential food nutrients
decreases. For many individuals the effect of ha-
bitual physical activity also improves the wellbe-
ing and it is a good feeling to have a potential to
cope with straining situations.

What kind of exercise to choose?
You should have fun when exereising. Choose
something you find pleasure in doing regularly.

To get a good effect out of the training you should
choose a form of exercise that engages large mus-
cle groups. Then the demand of‘increased blood
flow and oxygen transport will be so great that
heart will increase its pump capacity. Jogging, ca-
lesthenics, aerobic dancing, bicycling, swimming,

skiing and walking are excellent examples of ex-
ercises meeting this requirement.

In a few months you can get 10-15 years young-
er

If you cycle 30 minutes a few times a week you
can lower your condition age with 10-15 years!
Scientifically this is described as a reduction on
the biological age. Externally, you are your usual
self. Internally, however, you feel much younger.
In other words: You can work harder. You feel
more alert and healthy. Your ability to handle
stress and problems increases. There are few bet-
ter ways to improve your physical condition than
to cycle. It does not over-tax your joints. It builds
up your condition progressively and at your own
pace — and you can make your training fit wea-
ther conditions.

Do I loose weight when I Cycling?

Yes! You do lose calories. A few miles on your
bike every day over one year, you will have lost
the equivalent of 20 pounds of body fat. You will
achieve best results if you combine exercise with
healthier eating. A little less sugar, less butter on
your bread or less fat in your frying pan. And a
few miles on your bike every day. In a year you
will have lost 20 pounds.

Do I get stronger?

Cycling strengthens the muscles of the back, ab-
domen and legs. Daily chores become easier. Cy-
cling also makes your heart stronger. Your pulse
rate gets lower even when you exert yourself a
little extra. Regular exercise also has a favoura-
ble influence on high blood pressures.

How do I train?

1. Warm up 3-5 minutes with a low pedal resis-
tance. Pedal about 12 mph (20 km/h).

2. Increase the resistance until you feel the train-
ing “somewhat hard”. Keep the speed for 2-5
minutes. Get off the Exercise cycle and rest a
few minutes. Cycle again and then rest. Train
at your own pace and with a comfortable
pedal resistance. After a few weeks you can
increase the resistance.

3. Before ending, pedal a few minutes with a
light resistance, in order to step down your
training.

Total time about 30 minutes.

14 Monark Ergomedic 874 E



Strength training:

1. Give yourself a thorough warm-up.
2. Pedal with a heavy resistance for 5-10 se-
conds, then rest 45-60 seconds. Repeat this

5-10 times.

It is a good idea to combine your cycle training
with gymnastics for 5§ minutes, as this will give
you a physiologically well-balanced form of

training.

Elderly people and physically weak persons
should consult a doctor before starting their

training.

Trouble shooting guide

Symtom

Probable Cause/Corrective Action

The Display is not working

Check that the batteries are ok.

No heart rate

Check the chest belt (battery). Wet the thumbs and place them
on the electrodes. A low clicking sound will appear near bat-
tery lid while you click on the electrodes with one thumb.

Use another external HR monitor to check the belt.

Check that the chest belt is positioned correct on test person
and tight enough. Check that the electrodes are wet, in hard
cases it is necessary to use a contact gel or a mixture of water
with a few drops of washing-up liquid.

The level for HR signal can vary from person to person. Put
chest belt on another known person who has a good pulse
rendering.

Uneven Heart rate

Use an external unit for example a pulse watch to check if it
also indicates irregular pulse. If it is the case there are probably
disturbance in the room. Magnetic fields from high voltage ca-
bles, elevators, fluorescent tube etc can cause the disturbance.
Other electronic equipment could be placed to close.

If irregular pulse remains we recommend measuring HR ma-
nually. If HR still remains irregular at workload test person’s
health need to be examined.

There’s a click noise with every pe-
daling (increases with the weight)

The pedals are not tightly drawn. Change pedals.
There’s a loose in the crank cheek, loose in the base bearing.

Scratching noise is heard when
pedaling

Check that the carriage block is taken off and that none of the
covers is scratching.

There’s a click noise and a squeak
noise when pedaling

Untighten the chain a bit.

Monark Ergomedic 874 E 15



Spare parts

From serial number: WBK 265820 C

Pos. | Qty. Art.No. Description Pos. | Qty. Art.No. Description
1 1 9301-15 | Support tube, front 25 1 9126-72 -Handgrip (pair)
2 1 9301-16 | Support tube, rear 26 1 9100-180 -Lever M8
3 4 9328-51 | Plastic cap, blue 27 1 9300-291 -Expander wedge
4 4 9328-26 | Rubber foot 28 2 5675-9 Screw
5 1 9328-37 | Transport wheel compl. (pair) 29 1 9394-71 | Frame cover, left
6 4 5845 Locking nut M8 30 1 9384-45 | Belt control
7 1 9300-55 | Chain1/2x1/8"”,1161 31 1 9374-41 | Instrument cover
8 2 9300-12 | Screw MVBF M8x16 mm 32 1 9374-9 Front frame
9 1 9300-220 | Pedal, pair 33 1 9374-29 | Weight holder
10 1 9300-207 | Pedal strap, (pair) 34 1 5843-9 Nut M6
11 2 8523-2 Dust cover 35 1 9302-28 | Plastic plug
12 2 8523-115 | Screw M6S 8.8 M8 x 20 FZB 36 1 9300-3 Brake wheel, complete
13 1 9326-164 | Magnet 37 1 9300-24 | Wheel suspension compl. set
14 1 9300-430 | Steel crank set, complete 38 1 9322-117 -Bush, 23 mm
15 1 8966-175 | BB cartridge bearing, complete 39 1 9300-118 -Axle
16 1 9300-122 | Locking screw 40 3 91001-6 -Bearing 6001 - 2z
17 2 9300-134 | Pressure washer 41 1 9106-14 -Connection
18 1 9300-138 | Saddle post 42 1 9106-13 -Sprocket
19 1 9300-123 | Top cover 43 1 9000-12 -Chain adjuster (pair)
20 1 9300-115 | Bushing f. saddle post 44 1 5683 Screw M5x75 mm
21 1 4994-5 Saddle 45 10 9306-12 | Plastic plug
1 9300-114 -Saddle bracket 46 2 5673-9 Screw M5x12 mm
22 1 8966-176 | Support casing for BB-bracket 47 1 5681 Screw M5
23 1 9374-60 | Bracket f frame 48 1 9374-70 | Frame cover, right
24 1 9300-280 | Handlebar complete 49 3 5671-19 | Screw M5x20 mm

16 Monark Ergomedic 874 E



9101112 13

10

From serial number: WBK 265820 C

Pos. | Qty. Art.No. Description Pos. | Qty. Art.No. Description
1 1 9326-162 | Sensor 15 2 14379 -Screw M6x16 mm
2 1 9326-166 | Sensor holder 16 1 5844 Nut M8
3 2 9326-59 | Screw 17 1 5864 Washer M8
4 1 9326-263 | Cable 18 1 14374 Screw M8x160 mm
5 1 9374-172 | Holder f meter 70x16 mm 19 1 9374-12 | PVC cover
6 1 9374-170 | Electronic meter 20 1 9324-26 | Belt
7 1 9374-171 | Holder f meter 16x16 mm 21 1 9374-29 | Weight holder, 1 kg
8 1 9374-20 | Tension device, complete 22 4 9102-30 | Weight, 0,1kg
9 2 9127-37 -Spacer 8.5x12x13 23 1 9102-27 | Weight, 0,5kg
10 2 19088-6 -Ball Bearing 608-2Z 24 4 9102-26 | Weight, 1kg
11 2 5862 -Washer 25 1 9384-47 | Belt set
12 3 14323-9 -Screw M6x16 mm 26 1 9301-5 Frame
13 1 9324-70 -Lock washer 1 9339-98 | Chest belt
14 1 9374-21 -Stop 1 9300-365 | Software

Monark Ergomedic 874 E

17






=
=
®
=
-
n
iy
o:
-
®
(o)
?
—
=
0Q

Innehallsforteckning

Monark Exercise AB 20
Produktinformation 21
Funktionsbeskrivning 22
Belastningsreglering 22
Cykelinstdllningar 22
Mdtarspecifikationer 23
Madtarinstruktioner 23
Service 24
Garanti 24
Regelbunden servicekontroll & underhdall 24
Transport 25
Batterier 25
Byte bromslina 26
Justering av bromslinans spdnning 26
Bromsbana 27
Bromshjulslagring 27
Vevlager 27
Kedja 1/2" x 1/8” 28
Frigangskrans 29
Traningstips 30
Felsokning 31
Reservdelslista 32

© 2009 MONARK EXERCISE AB, Vansbro, Sweden




Monark Exercise AB

Monark har 100 ars erfarenhet av cykeltillverkning. En tradition som gett kunskap,
erfarenhet, och kansla for produkt och kvalitet. Sedan borjan av 1900-talet har Mo-
narks cyklar varit ett levande bevis pa exakthet, palitlighet, hallfasthet och service.
Det ar en av anledningar till att vi idag ar varldsledande pa Ergometercyklar och
marknadsledande i Skandinavien pa Transportcyklar.

Vi tillverkar, utvecklar och marknadsfor ergometer och traningscyklar, transport
och specialcyklar. Vara storsta kundgrupper hittar vi inom sjukvard, idrottsmedicin,
myndigheter, industri och postverksamhet.

For mer information: www.monarkexercise.se

20

Monark Ergomedic 874 E



Produktinformation

Vi gratulerar till din nya Ergometer.

OBS!
Da anviandning av Ergomedic 874 E kan inne-

Monark Ergometercykel modell 874 E dr en  bira ansenlig fysisk pafrestning rekommenderas
belastningsséker CYkCI fOf konditionstester OCh personer som inte ar vana Vld konditionstrﬁning
arbetsprov. Den dr forsedd med en broms, vars  alt. j kiinner sig helt friska att forst kontakta en
bromskraft regleras med vikter som liggs i en  [ikare for radgivning.

viktkorg. Det patenterade viktkorgssystemet be-

hover inte kalibreras. Vikternas exakthet gor att

belastningen blir korrekt.

Fakta

Stabil ram
Pulverlackerad

Bredd
530 mm vid styre
640 mm vid stodben

Langd
1120 mm

Hojd

890-1130 mm vid styre
800-1120 mm vid sadel
1030 mm vid front

Vikt
57 kg (utan vikter)

Ingar
Pulsbalte

Praktiska transporthjul
Elektronisk matare med puls

Stort vilbalanserat svianghjul pa ca 22 kg
Hoj- och siankbar sadel och styre

Monark Ergomedic 874 E 21



Funktionsbeskrivning

Belastningsreglering

Genom cykling tillfors rorelseenergi till broms-
hjulet som bromsas upp med ett bromslina vilken
l6per runt storre delen av bromshjulets broms-
bana. Andring av bromseffekten sker antingen
genom annan tramphastighet eller att med hjalp
av vikterna oka eller minska bromslinans span-
ning mot bromshjulet. Vikterna finns i storlekar-
na 1 kg, 0,5 kg och 0,1 kg. Detta gor att broms-
kraften kan varieras fran 1 kp till maximalt 12
kp i steg pa 0,1 kp. Bromskraften uttrycks i kp
ddr massan 1 kg ger bromskraften 1 kp. OBS! 1
kp dr den minsta belastning som kan stillas da
detta motsvarar korgens egenvikt som ar 1 kg.
En viktkorg som endast vager 0,5 kg finns som

tillbehor.

Fig: Justeringar f - A
1) Ldsratt, sadel St
2) Lésvred, styre / 4
3) Minsta iséttningsldngd

Fig: Belastningsreglering
1) Viktkorg med vikter

Cykelinstallningar

Sadelhojden stills in sd att man sitter bekvamt.
Lamplig hojd kan vara att ha knaet latt bojt nar
fotbladet ar mitt 6ver pedalaxeln samtidigt som
pedalen ar i bottenldge. Vid justering av sadelhoj-
den lossa lasratten. Se fig: Justeringar.

Styrets installning skall ge en bekvam korstall-
ning. Vid lingre korning kan det vara lampligt
att ndgon gang under traningen dndra styrinstall-
ning. Genom att lossa pa styrets ldsvred justeras
styret. Se fig: Justeringar.

OBS! Var noga med att styrets isattningslangd i
styrhuvudet dr minst 8 cm. Detta ar markerat pa
styrstammen(3).

22 Monark Ergomedic 874 E



Matarspecifikationer

Display
Pedalvarv. RPM 0-250 varv./min
Hjartfrekvens, HR 50 - 240 slag/min
Tid, TIME 0:00-99:59 | min:sek
Hastighet, SPEED 0-99 km/h
Korstracka, DISTANCE | 0.0 -99.9 |km
Bromskraft, kp 0.0-7.0 kp
Kalorier, CAL 0-999 kcal
Effekt, WATT 0-7xrpm | watt
Batterier: 1.5Vx2 R6 (AA)
Lagringstemp: -10°C - +60°C
Arbetstemperatur:  0°C - 50°C

Matarinstruktioner

Ergometer modell 874 E ar utrustad med en elek-
tronisk métare som visar pedalvarv per minut
(RPM), hjartfrekvens i slag per minut (HR), kor-
tid i minuter och sekunder (TIME), tainkt cyklings-
hastighet i km per timma (SPEED) samt tillryg-
galagd korstracka i km (DISTANCE). Dessutom
kan bromskraften (kp = viktkorg + vikter i kg)
stallas in vilket ger en korekt indikering av kalo-
riforbrukning (CAL) samt effekt i watt (WATT).
Den forbrukade energin uttrycks vanligen i cal
(kilokalorier, kcal) eller k] (kilo Joule). En kcal ar
ca 4,2 k]J. Effekten ar beroende av trampvarvtalet
vilket gor att watt talet kan finjusteras genom att
oka, alternativt minska trampfrekvensen.

Vid tryck pa ndgon knapp eller vid rorelse pa
veven ges en signal till mataren som aktiverar
samtliga funktioner.

Vid fonstret for hjartfrekvens (HR) tinds ett »
vilket betyder att mataren soker efter en pulssig-
nal frdn en yttre sindare, ett brostbilte. Kan ma-
taren inte hitta nagon signal kopplas funktionen
for matning av hjartfrekvens automatiskt bort
efter 30 sekunder. Detta syns genom att ®—sym-
bolen slocknar. Denna funktion kan ater startas
upp genom att trycka pa nagon knapp.

HR

TIME

SPEED

DISTANCE

kp
CAL/
WATT

Tid borjar riknas automatiskt i och med att pe-
dalerna trampas runt. Varden for tid (TIME) och
korstracka (DISTANCE) samt kalorier (CAL) kan
nollstillas genom att trycka pa RESET-knappen i
mer 4n 2 sekunder.

For att fonstret med kalorier och watt skall visa
ratt varden skall kp (bromskraften) stallas in till
det belastningsviarde som motsvaras av viktkor-
gen (palagda vikter + korgens vikt 1 kg). Exempel:
Korg + vikter vager 3 kg. Tryck pa kp-knappen till
vanster pa mataren. Nedre displayfonstret visar
nu kp virdet. Oka i steg om 0.1 med kp knappen
(pil upp) alt. minska med RESET knappen (pil
ner) tills vardet stimmer Overens med viktkor-
gens totala vikt - i detta fallet 3.0. Tryck darefter
pa CAL/WATT knappen och cykelns bromseffekt
i watt kommer att visas. Vid ytterligare tryck pa
CAL/WATT hoppar visningen mellan kalorier
alt. watt. Det watt tal som visas kommer att vara
beroende av trampvarvtalet pa veven. Watt talet
kan darfor finjusteras genom att 6ka eller minska
trampfrekvensen. Kaloriforbrukningen raknas
upp kontinuerligt.

Utsitt inte den elektroniska maitaren for direkt
solljus eller extremt hoga temperaturer. Anvand
inga l6sningsmedel vid rengoring, utan endast
torr trasa.

Monark Ergomedic 874 E 23



Service

Garanti

Sverige-konsument

Om ett fel skulle uppsta pa Din cykel giller konsumentkoéplagen och da vander Du Dig till det stille
dar den ar inkopt. Foljande galler: fel som visar sig inom sex manader anses som ursprungsfel som skall
atgdrdas av sdljaren utan kostnad for kund. Giller dock inte om kund inte f6ljt skotselanvisningar eller
vanvardat varan. Efter sex manader ar det upp till kund att visa att varan hade ett ursprungligt fel.

Sverige-yrkesmissig anviandning
Vid ett eventuellt produktfel giller koplagen, dvs ett ar.

Regelbunden servicekontroll & underhall

For att halla Din ergometer i gott skick bor den underhallas och genomga en regelbunden service.

fungerar normalt och att inget onormalt glapp finns. Glapp i t.ex.
lager orsakar snabb forslitning och darmed kraftigt reducerad livs-
langd.

Servicepunkt Tidsatgang | Hur ofta?
Hall alltid ergometern ren och vilsmord. 5 min 1 ggr/vecka
Ytbehandla da och dad med nagot rostskyddsmedel, speciellt nar den | 5 min 4 ger/ar
ar rengjord och ytorna torra. Fraimst bor man skydda kromade och

zinkade delar men dven lackerade delar mar bra av samma skydd.

Kontrollera med jamna mellanrum att pedalerna fortfarande ar or- |5 min 4 gor/ar
dentligt atdragna. Om inte kommer gangorna i veven att skadas.Kon-

trollera dven att vevarmarna ar ordentligt fastdragna pa vevaxelns

fyrkantsfattning. Efterdrag vid behov. Nar Ergometern ar ny ar det

viktigt att efterdra pedalerna efter 5 timmars anvandning.

Se till att pedalarmarna sitter ordentligt fast pa vevaxeln. 5 min 4 ger/ar
Kann efter sd att pedalerna roterar mjukt och att pedalaxeln 4r ren |5 min 4 ger/ar
fran diverse smuts.

I samband med rengoring och smorjning kontrollera ocksa att alla | 10 min 2 ggr/ar
skruvar och muttrar ar ordentligt dtdragna.

Kontrollera att kedjan gar jamnt och att det inte finns nagot glapp i| 15 min 2 ggr/ar
vevlagret.

Se till att pedaler, kedja och frigangskrans dr smorda. 5 min 2 ggr/ar
Se efter att bromsbandet inte visar pa stora forslitningskador. 15 min 2 ggr/ar
Kontrollera att vreden till styre och sadel 4r smorda. 5 min 2 ggr/ar
Forsakra dig om att alla rorliga delar sdsom vevaxel och svianghjul Var  uppmirksam

pd onormala ljud
eller andra tekniska
fel. Detta maste at-
girdas innan fort-
satt anviandning av
cykeln.

Kontroller att bromshjulet ligger i centrum och roterar jamnt.

24 Monark Ergomedic 874 E




Transport

Vid transport se till att bromslinan dr nagot spand
runt bromshjulet, detta for att forhindra att linan
aker av hjulet.

OBS! Ergometerns tillverkningsnummer ar place-
rat enligt fig: Tillverkningsnummer.

Fig: Tillverkningsnummer (1)

Batterier

Matarens batterier ligger i en separat forpack-
ning vid leverans. Om lagringstiden varit ldng
kan batterieffekten vara for lag for att fa fram
funktioner pd méitaren. Batterierna maste da
bytas ut till nya.

Lyft ur digitalmitarens front genom att binda
upp i underkanten forst. Batterierna, 2 st 1.5V
storlek R6 (AA), som sitter i en hdllare pa mata-
rens baksida kan da latt bytas. Se fig: Batterier.

Direkt efter att batterier satts i visas samtliga seg-
ment i displayen samt en ton hors i ca 2 sekunder.
Dairefter gar mataren Over till normal visning.
Tryck ner mataren i panelen igen.

P3 baksidan av mitaren kan man andra matfunk-
tionen fran km till miles(2).

gIMONARY

SPORTS

Fig: Batterier
1) Batterier
2) km/mile

Monark Ergomedic 874 E 25




Byte bromslina

Demontera kdpan 6ver belastningsramen genom
att lossa skruven pa vinster resp. hoger kapsida.
Dela pa kontaktdonet till digitalmataren innan
kapan tas bort helt. Hissa upp viktkorgen i sitt
ovre stopplage. Lossa lasbygeln, se fig: Bromsan-
ordning under avsnitt ”Justering av bromslinans
spanning”, och tag bort bromslinan fran spann-
centrumet. Lossa alt. klipp av knuten i andra
lindndan och tag darefter bort hela linan fran cy-

keln.

Vid montering av ny bromslina, kor forst in ena
andan i spanncentrumets linhal samt gor en knut
och lat den dérefter falla in i halrummet. Montera
darefter lina enligt fig: Bromslina. Las linindan
med lasbygeln. Se fig: Bromsanordning under av-
snitt ”Justering av bromslinans spanning”.

OBS! I samband med byte av bromsband bér
bromsbanan rengoras. Se avsnitt ”Bromsbana”.

Fig: Bromslina

Justering av bromslinans spanning

Kontrollera forst att bromslinan ligger ratt pa
bromsbanan. Se fig: Bromslina och Bromsan-
ordning. Lagg darefter 4 kg i viktkorgen(4), se
fig: Bromsanordning. Drag runt bromshjulet
med handen. Korgen skall nu lyftas upp sa att
avstandet till bromshjulet 4r minst 40 mm och
max 60 mm. Sker inte detta maste bromslinans
lingd justeras vid spanncentrum.

Lossa pa lasbygeln(2) och justera lingden pa
linan. Hanger korgen for lagt - strick linan
nagot alt. hanger korgen for hogt - slapp nagot
pa linan.Vrid spanncentrum(3) ca ett kvarts varv
samtidigt som linan ar strackt. Las darefter by-
geln pa nytt och kontrollera att korgen hojer sig
mellan 30 och 60 mm nar hjulet dras runt.

For att ge rdtt belastning kan korgen i princip
hinga var som helst mellan bromshjulet och
spanncentrumets raminfastning. Observera dock
att spanncentrumets stopp ej far ga emot i sitt
ovre eller undre stopplige med nagon del. I sa
fall sitts sjalvjusteringen ur spel och darmed kan
rdatt bromsmotstand ej erhallas.

1) Stopp

2) Lasbygel

3) Spdnncentrum

4) Viktkorg

Fig: Bromsanordning

26 Monark Ergomedic 874 E



Bromsbana

Smutsbeldggning pa bromslinan och bromshju-
lets bromsbana kan ge ryck i belastningsanord-
ningen. Bromshjulets bromsbana bor da slipas
med fin slipduk, och sedan torkas med en trasa

eller dylikt.

Demontera skydd och ta av bromslinan enligt an-
visningarna under avsnitt ”Byte bromslina”. Slipa
dadrefter bromsbanan med en fin slipduk. Se fig:
Bromsbana. Slipning kan lattare genomféras om
ndgon sitter och trampar forsiktigt pa cykeln.

Ojamnbheter i bromsbanan tas ocksa bort med ett
fint slippapper eller slipduk. I annat fall slits linan
onodigt hart, samtidigt som oljud uppstar.

Hall alltid bromsbanan torr och ren. Nagot
smorjmedel far absolut inte anvandas. Broms-
bandet bor regelbundet kontrolleras med avse-
ende pa slitage. Om det ser slitet ut bor det bytas
ut, se ”Byte bromslina”.

Fig: Bromsbana

Bromshjulslagring

Lagren i bromshjulet ar livstidssmorda och for-
drar normalt inga atgirder. Om fel i lagren miss-
tanks eller konstateras, vand Er till fackman for
byte.

Vevlager

Vevlagringen ar typ kasettvevlager och fordrar
normalt inga atgarder. Om fel i lagringen kon-
stateras eller misstinks viand Er till fackman for
byte.

Monark Ergomedic 874 E 27



Kedja 1/2" x 1/8"

Kontrollera med jiamna mellanrum att ked-
jan dr ratt spand och lagom smord. Pa mitten
av sin fria lingd bor kedjan ha ett spel pa ca
10 mm. Se fig:Kedjejustering. Vid cirka 20 mm
spel bor kedjan strackas. 1 annat fall orsakas
onormal forslitning bade pa kedja och kedje-
hjul. Pa grund av detta rekommenderas att all-
tid halla spelet sd niara minimum som mojligt.

Nir kedjan har blivit sa lang att den inte lingre
kan strackas med kedjestrackarna dr den utsliten
och skall bytas ut mot en ny.

Demontera vanster alt. hoger ramkapa. Demon-
tera kedjan genom att lossa kedjelaset. Anviand
tang for att ta loss lasfjadern. Se fig: kedjebyte.

Vid instdllning av kedjan lossas axelmuttrarna.
Nav och axel flyttas darefter framat eller bakat
genom att lossa eller skruva at kedjestrackarnas
muttrar. Drag darefter fast muttrarna pa navax-
eln igen. Se fig: Kedjejustering.

Fig: Kedjejustering
1) Kedjestrcickare
2) Hjulaxelmutter
3) Kedjespel

Kedjelasets fjader skall monteras med den slutna
anden i kedjans rorelseriktning. Anvind tang for
att montera lasfjadern. Se fig: Kedjebyte.

OBS! Hjulet maste riktas in parallellt med ra-
mens centrumlinje. Oljud kan annars upp-
sti fran kedjan da den kan ha tendens
att hianga upp sig pa drevens kuggtoppar.

Montera darefter de demonterade detaljerna en-
ligt ovanstdende men i omvind ordning.

Fig: Kedjebyte

4) Ldsbricka

5) Kedjans rérelseriktning
6) Kedjelds

28 Monark Ergomedic 874 E



Frigdngskrans

Vid byte av frigangskrans, demontera hoger och
vanster ramkdpa. Demontera kedja enligt avsnitt
"Kedja”.

Lossa axelmuttrarna och lyft av hjulet. Tag av
axelmutter, bricka, kedjestrackare och hylsa pa
frigangskranssidan. Placera avdragare (vart art
nr 9100-14) i anslutning och placera hylsa och
axelmutter utanfor. Se fig: Avdragare.

OBS! Axelmuttern far ej dras at helt. Anslutning
— frigangskrans skall kunna lossas ett halvt varv.

Byt ut frigangskrans-anslutning och montera
igen enligt ovanstdende punkter men i omvind
ordning.

Frigdngskransen bor smérjs med olja nagon gang
per ar. Luta cykeln nigot sa att oljan lattare rin-
ner in i lagringen. Se fig: Smorjning.

Fig: Navmontage

Fig: Avdragare
(artnr: 9100-14)

Monark Ergomedic 874 E




Traningstips

Manniskokroppen dr byggd for aktivitet - inte
for att vila. Kampen for tillvaron har kravt god
rorelseformdga. Men for fullgod funktion maste
hjarta, blodomlopp, muskler, skelett och nervsys-
tem regelbundet utsittas for belastning, en tra-
ning.

Forr i tiden fick kroppen motion bade i arbe-
tet och under fritiden. I det moderna samhallet
har maskinerna alltmer 6vertagit de arbetsmo-
ment som tidigare klarades med muskelkraft.
Vi har kommit in i en tillvaro dominerad av sit-
tande, dkande eller liggande. Den naturliga och
viktiga stimulans som vivnader och inre organ
far genom fysiskt arbete har dirmed bortfallit.
Mainga av kroppens vavnader har den inbyggda
egenskapen att i hog grad anpassas till inaktivitet
och aktivitet. Detta giller muskler, ben och blod.
Den fysiska arbetsformdgan kan harigenom pa-
verkas i saval negativ som positiv riktning. Un-
dersokning pa GIH:s fysiologiska institution har
visat, att om man avsatter 30 minuter for mo-
tionstraning i form av l6pning, cykling, simning
eller skidakning 2-3 ginger per vecka, har kon-
ditionen forbattrats 15-20% efter ett par mana-
der. Hjartmuskelns pumpférmaga ékar och leder
och muskler tillvaxer i styrka. Kroppen anpassar
sig till de nya kraven. Reservkrafterna kommer
och man kanner sig mindre trétt och sliten. Med
okad fysisk aktivitet motverkas fetma, aptiten
fungerar ”sikrare”, man kan dta mer utan risk
for overvikt och ddrmed minskar risken for brist
pa viktiga niringsamnen. Fér mdnga innebar
motionens traningseffekt ocksa att den psykiska
balansen okar. Kanslan av att orka mer gor ofta
att man lattare bibehaller humor och uthallighet
i pressade situationer.

Vilken typ av traning passar mig?

For det forsta ska Du ha roligt, da Du motione-
rar. Du skall alltsa vilja nagot som Du glader Dig
at att fa utova regelbundet.

For att fa en god traningseffekt skall Du vilja en
motionsform som engagerar stora muskelgrup-
per. Forst nér det sker, blir kravet pa 6kad blod-
transport, och darmed kravet pa levererat syre,
sa stort att hjartat utsitts for ett arbete som Okar
pumpformagan. Lopning, cykling, simning, skid-
akning och gang ar utmirkta exempel pa grenar
som fyller detta krav.

Om ett par manader kan du bli 10-15 ar yngre
Om Du cyklar 30 minuter ett par ganger i veckan
kan Du sinka Din konditionsdlder med 10-15
ar! Forskarna kallar det att den biologiska al-
dern minskar. Utanpd d4r man som vanligt, men
invdrtes kdnner man sig mycket yngre. Eller med
andra ord:

Du orkar mer. Du kianner Dig piggare och friska-
re. Du far lattare att hantera stress och problem.

Att cykla ar nagot av det basta Du kan gora for
att 0ka konditionen. Det ar skonsamt mot leder-
na. Det bygger successivt upp Din kondition i en
takt som Du sjalv bestammer.

Gar jag ner i vikt nar jag cyklar?

Helt sakert ar att Du forbrukar massor av kalo-
rier. Hog eller lag fart spelar ingen storre roll. Det
ar antalet kilometer som avgor. Basta resultatet
far Du forstds om Du kombinerar motionen med
lite vettigare kostvanor: Lite mindre socker. Lite
mindre matfett pa smorgasen och fett pa kottbi-
ten. Lattmjolk i stallet for vanlig mjolk. Och sd
nagra kilometer pa cykeln varje dag. Pa ett ar har
Du sikert forlorat 10 kg.

Blir jag starkare?

Cyklingen starker rygg-, buk- och benmuskler-
na. Du orkar mera i vardagslivet och pa jobbet.
Cyklingen starker ocksa hjartat. Din puls blir
lagre dven nar Du anstranger Dig lite extra. Dess-
utom har regelbunden traning en gynnsam inver-
kan pa hogt blodtryck.

Hur tranar jag bast?

Konditionstrining:

1. Varm upp i 3-5 minuter med ldtt motstand.
Cykla med cirka 60 trampvarv per minut.

2. Cykla med storre motstind men fortfarande
med cirka 20 km/h. Hall pa 2-5 minuter. Kliv av
cykeln och vila nagra minuter. Cykla igen, vila.
Trana i Din egen takt med lagom trampmotstand.
Efter nagra veckor kan Du 6ka motstandet.

Styrketrdaning:

1. Viarm upp ordentligt.

2. Cykla med tungt motstand i 5-10 sekunder.
Vila 45-60 sekunder. Upprepa 5-10 ganger.

Aldre och fysiskt svaga bor tala med en likare
innan de borjar trana.

30 Monark Ergomedic 874 E



Fels6kning

Symtom

Trolig orsak/atgard

Displayen fungerar inte

Kontrollera om batterierna ar ok

Ingen pulsfrekvens visas

Kontrollera att batteriet 4r ok pa pulsbandet genom att fukta
tummarna och klicka pa elektroderna, ett svagt ljud skall da
horas vid batteriluckan alt. att pulsvarden skall synas i dis-
playen.

Kontrollera att baltet sitter korrekt pa testpersonen och att
resaren ar tillrackligt tight. Se sa att elektroderna ar fuktade, i
svara fall kan det vara nédnindigt att anvinda gel alt. ndgon
droppe diskmedel blandat i vatten. Pulssignalens styrka kan
variera fran person till person, testa baltet 4ven pa en ”kand”
person som har bra puls atergivning.

Oregelbunden puls

Anvind en extern enhet (t.ex. pulsklocka) for att kontrollera
om dven den har en oregelbunden puls. Om sa ar fallet beror
det troligen pa storning i rummet. Storningen kan komma av
elektroniska filt fran starkstromkablarna, hissar, lysramper
m.m eller att andra elektroniska enheter star for nara (ex.
mobiltelefoner). Flytta cykeln till en annan plats i rummet eller
byt lokal. Kvarstar oregelbunden puls bor manuell kontroll
ske. Ar pulsen fortfarande oregelbunden vid arbete bér man
utreda personens hilsa.

Det knapper till vid varje tramptag
(okar med belastningen)

Pedalerna ar ej riktigt dragna, byt pedaler.
Det ar glapp i vevarmarna, glapp i vevlagret.

Skrapljud hérs nar man trampar

Kontrollera att transportklossarna ar borttagna samt att nagon
kapa inte skrapar emot.

Det knapper och knakar nar man
trampar

Slaka kedjan en aning.

Monark Ergomedic 874 E 31



Reservdelslista

Fr.o.m serienummer;: WBK 265820 C

Pos. | Ant. Art.nr. Beskrivning Pos. | Ant. Art.nr. Beskrivning
1 1 9301-15 | Stodror, framre 25 1 9126-72 -Handtag bl3, par
2 1 9301-16 | Stodror, bakre 26 1 9100-180 -L3svred
3 4 9328-51 | Andavslutning, stodror, bld 27 1 9300-291 -Expanderkil
4 4 9328-26 | Stodfot 28 2 5675-9 Skruv
5 1 9328-37 | Transporthjul, (par) kompl. 29 1 9394-71 | Ramkdpa, vinster
6 4 5845 Lasmutter M8 30 1 9384-45 | Linstyrning
7 1 9300-55 |Kedjal1l/2x1/8", 1161 31 1 9374-41 | Instrumentkadpa
8 2 9300-12 | Skruv MVBF M8x16 mm 32 1 9374-9 Belastningsram
9 1 9300-220 | Pedal, par 33 1 9374-29 | Vikthdllare
10 1 9300-207 | Rem for pedal, par 34 1 5843-9 Mutter M6
11 2 8523-2 Plastknopp 35 1 9302-28 | Plast plugg
12 2 8523-115 | Skruv M6S 8.8 M8 x 20 FZB 36 1 9300-3 Bromshjul
13 1 9326-164 | Magnet 37 1 9300-24 | Bromshjulsupphangning kompl
14 1 9300-430 | Vevsats komplett 38 1 9322-117 -Distanshylsa, 23 mm
15 1 8966-175 | Kasettvevlager 39 1 9300-118 -Navaxel
16 1 9300-122 | Lasratt 40 3 91001-6 -Kullager 6001 - 2z
17 2 9300-134 | Tryckbricka kompl. m O-ring 41 1 9106-14 -Anslutning
18 1 9300-138 | Sadelstolpe 42 1 9106-13 -Frikrans
19 1 9300-123 | Toppkdpa 43 1 9000-12 -Kedjestrackare (par)
20 1 9300-115 | Sadelrorsbussning 44 1 5683 Skruv M5x75 mm
21 1 4994-5 Sadel 45 10 9306-12 | Plast plugg

1 9300-114 -Sadelklamma 46 2 5673-9 Skruv M5x12 mm
22 1 8966-176 | Adapter t. Shimanovevlager 47 1 5681 Skruv M5
23 1 9374-60 | Fastplat for belastningsram 48 1 9374-70 | Ramkapa, hdger
24 1 9300-280 | Styre kompl. m styrstam 49 3 5671-19 | Skruv M5x20 mm
32 Monark Ergomedic 874 E




9101112 13 10 14 15

Fr.o.m serienummer;: WBK 265820 C

Pos. | Ant. Art.nr. Beskrivning Pos. | Ant. Art.nr. Beskrivning
1 1 9326-162 | Sensor 15 2 14379 -Skruv M6x16 mm
2 1 9326-166 | Sensorfaste 16 1 5844 Mutter M8
3 2 9326-59 | Skruv 17 1 5864 Bricka M8
4 1 9326-263 | Kabel 18 1 14374 Skruv M8x160 mm
5 1 9374-172 | Fastbleck 19 1 9374-12 | Dampare
6 1 9374-170 | Digitalmadtare 20 1 9324-26 | Upphangningsrem
7 1 9374-171 | Faste 21 1 9374-29 | Viktkorg, 1 kg
8 1 9374-20 | Spenncentrum komplett 22 4 9102-30 | Vikt, 0,1kg
9 2 9127-37 -Distanshylsa 23 1 9102-27 | Vikt, 0,5kg
10 2 19088-6 -Kullager, 608 2Z 24 4 9102-26 | Vikt, 1kg
11 2 5862 -Bricka 25 1 9384-47 | Bromslina komplett
12 3 14323-9 -Skruv M6x16 mm 26 1 9301-5 Ram
13 1 9324-70 -L3sbricka 1 9339-98 | Brostbilte
14 1 9374-21 -Lagesstopp 1 9300-365 | PC program

Monark Ergomedic 874 E

33



Anteckningar:






b %
\(C2)

EX¢

ERCIS

MONARK

=YA\B

780 50 Vansbro Tel +46 (0)281-59 49 40 Fax +46 (0)281-719 81

www.monarkexercise.se



